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Botany: Respiration in Plants, Zoology: Reproductive Health
Chemistry: Thermodynamics, Physics: Wave Optics

1. Select the correct one w.r.t. payoff phase of | 1. &emenCasreddlendsn  ellenenm  Blewev LI

glycolysis

1) Fructose-6-phosphate is converted into
fructose 1, 6-bisphosphate

2) Substrate level phosphorylation takes place

3) Activation of glucose takes place

4) Glucose is phosphorylated to glucose-6-
phosphate by ATP in the presence of enzyme
hexokinase

2. In an anaerobic bacterium, the net gain of ATP

from one glucose molecule is
1)2

2)6

3) 38

4) 36

3. Arrange the following substrates in ascending

order w.r.t. their RQ values.

a. Tripalmitin b. Proteins c. Malic acid  d.
Glucose

l)a<b<d<c

2)b<d<a<c

3)a<b<c<d

4)d<a<b<c

4. Find the incorrect match w.r.t. electron transport

system in mitochondria.

1) Complex IV — Cytochrome bcl complex
2) Complex Il — Succinate dehydrogenase
3) Complex V — ATP synthase

4) Complex | — NADH dehydrogenase

5. Which one is a 5C intermediate of TCA cycle?

1) Citric acid

2) Succinyl CoA

3) a-Ketoglutaric acid
4) Oxaloacetic acid

Fflwreend s CHiIb6\s b H6)] D
1) Ly&BLTerv-6-umerd@uL LIFaGLTerd 1, 6-
eroumero@uUIL_ LT LomBmrLIh&SBaI
2)  senQurmenr  Bemev  LmerdGUITfGsvageit
HenL GLBISBSI
3) GHeEmHGHTenilei GFWIEOLIBHH60 HemL GILIBISBSH
4) GamdGsroma)Geuerd GBTHUTeH (LWeieallsmevuied
ATP epevld @ehd8mmerd @ 6rhd8mmerd-6-
urero@uL e urerdGUTGeul QFWIWILILIGSBESI.

2. smppleveor UTHefwh0, @M  G6EHHEHmerd
cevHIanlevlhibdI ATPuler By somuib
1)2
2) 6
3) 38
4) 36

3. Ueeumd  HenGumrmeiiseflest  eymiauflenguied
Siweusemen’l LBpSw RQ wdliser.
a. pflumevLslig st b. uysBEIBeT
C. omelé iLfl60ID d. &ensCsmerd
l)a<b<d<c
2)b<d<ac<c
3a<b<c<d
4)d<a<b<c

4., ool BLrsmewil flumeled  6TeVHL JT6  BLHa
SIenLOLIL] uBp  Heupre  QUTHSHHHMBHEH
SHE0TL_M5IWIGYLD.

1) amirewworny IV - engl GrsCymb bcl
HTIDLIETE610

2) gal Lenioli |l - F&FCe eenamt FegGererd

3) gl Leniotiy V - ATP dei@merd

4) g1 Lenioli] | - NADH eemamt” eg@eerd

5. TCA spmdluier 5C @enL_mblenev 61517
1) ALfE sublevd
2) gadlaflsv COA
3) a-&I BT EnT L fléd Siflevid
4) o156m6TI0FIgsH HILBEVLD
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6. Which of the following given below is not the

feature of an ideal contraceptive?

1) User friendly

2) Interfere with reproductive health of an
individual

3) Reversible

4) Absence of side effects

7. Which of the following are the hormone releasing

IUDs?

1) CuT, LNG-20

2) Progestasert, LNG-20

3) Cu7, Multiload 375

4) Lippes loop, Progestasert

8. Administration of emergency contraceptive is

effective if used

1) After 72 hours of ovulation

2) Within 72 hours of coitus

3) After 72 hours of menstruation
4) After 72 hours of implantation

9. Which of the following is a viral disease and gets

10.

transmitted via blood contact?
1) Gonorrhoea

2) Syphilis

3) Trichomoniasis

4) Hepatitis-B

Why do breast-feeding during the initial period

of infant growth is recommended by doctors?

a. To keep baby healthy

b. It provides several antibodies required by new
born.

c. It helps baby to develop resistance for several
diseases.

Select the correct option.

1) aonly

2) aand b only

3) b only

4)a,bandc

11. Which is not intensive property?

1) Boiling point

2) Refractive index
3) Molarity

4) Heat capacity
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&0  CBETHESILL (BeTemeumBmled 6%k FIBhSH

HHBHBHML U6 DIDFLD SI60607?

1) uweny BL L

2) @ HeflpLflen R IGLHDBS CyTohdIg e 60
Hemeolil(BFH60

3) e amiguig

4) ubBs NEN6NE|E6T B60EVTHSI

LereumeusiiauBniled  emrjGwmsnen  GeusilulBib
IUD sl 61517
1) CuT, LNG-20
2) Progestasert, LNG-20
3) Cu7, wevig@sum_ 375
4) e9l1Lerd eurci, HIGTOIRgerOL ML
IUFT  BOHSSOL WGBS UWUGHS
LWIenIeTeNHTHd BB GhyD
1) oemi_al@Briler 72 el ChyHaABE&0 LBE
2) 2_Lsoimeiledr 72 ewil Gbiy&Ha\iB@ 6N
3) wrselLTul (pighgl 72 el GBI SINSHS!
4) QuTBSSLILL L 72 1waflCBrHH B LIBE

9. UetiaumeusauBlsv 6151 emeugerd GHTUI LOBEID AT &S

10.

11.

CBHTLIL apsold LFeySIBeI?
1) GasrGeurmfluim

2) diiedard

3) 19f@sTGLomeflwimdlerd

4) GamuenLgero-B

GLHMSH  eueFFFuUlled  JIOL  BTEVSHSH60
STUINOLTEL  OBTHLULGI 6601 LD[HHIHIEN]T HENT6L
uflbgHienydalILBaSBSH?

a. GLHMHMU HBTTHBWILDTS 606l dHH [HdHH

b. uBsTHEL LIBHSHMTBEHHEHESH CHMEUUWITE L6V
SLETQLITIQFHEMET S| SILDMHIGH BB

C. A& GWHMHHG Liev CHTUIHEHDHE 6THITLIENLI
AUETSHB 2 5H6)HBSI.

Fflwreendd CHiIbH0BHBHB)LD.

1) aonly

2) aand b only

3) b only

4)a,bandc

6181 QUIT(HEWIENLD FMIT  LIGWILISH6T DI60D60V7
1) GardBlenev

2) @ealevse0 6T6u0T

3) Guomeomli g

4) Qaul'iL Hmest
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Second law of thermodynamics can be stated as

1) for a spontaneous process in isolated system,
the change in entropy is zero

2) for a non—spontaneous process in an isolated
system the change in entropy is positive

3) for a non—spontaneous process in an isolated
system the change in entropy is zero

4) for a spontaneous process in an isolated
system the change in entropy is positive

The values of AH and AS of a contain reaction
are —400 kJ/mol and —20 kJ/mol K respectively.
The temperature below which the reaction is
spontaneous is

1) 100 K

2) 100°C

3)20K

4) 20°C

Match the following

a) CO +% 0; — CO;

i) Heat of neutralisation

b) 2H, + O, — 2H20

ii) Heat of combustion

¢) Cet Oz — CO2

iii) Heat of formation

d) NaOH + HCl —

iv) Fuel cell

NaCl + H.0

1) a—ii, b—iv, ciii, d—i
2) a—iv, b—ii, ¢, d-iii
3) a—ii, b—iii, c-iv, d-i
4) a—iii, b—ii, c-iv, d-i

Given the bond energies of N = N, H — H and
N — H bonds as 945, 436 and 391 kJ mol™
respectively, the enthalpy of the reaction, Nag) +
3H2g) — 2NHs3(g)is

1) -93 kJ

2) 102 kJ

3) 90 kJ

4) 105 kJ

A YDSE uses a monochromatic source. The
shape of the interference fringes formed on
screen is

1) hyperbolic

2) circle

3) straight line

4) parabola
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Geuliu Buissalweder @TewiLmb ald Geieumy
aB36VUMLD
1) SNBSS L SO0
& 681607 & 6 UIT 60T CFWeOPEnBEHE),
etea1L_Grmiilulled ommmLd L eaeluIon @

RH  SHOlOIUGSSIULL  DiewLILTe0
SHeIeNFmFUIBM CFWeL(LPMBEH S
eteo1L_Gymiiluiled GBiTLoenBULITS
BHSGID

RH  SHONOIUGSSIULL  DIe®LILT60
SHeIN&FmFUIBM CFWeL(LPNBE G
eteu1L_Grmiilulled ommmLDd L eaedluior @

QM  SHONWUIUGSHSILULL  DIeOLOLILTe0
SHETENT &F DI UITEOT QFWEO(LPENBEH S,
eTed1_Gymiiuiled GpIamBULITS
BHsGID

2)
LOTBMBLD
3)

4)

LDTBMBLD

13. AH wopmitb AS Qsrewi@Geien alleneruiled LogILwe6i

14.

15.

16.

wenpBw —400 kJ/mol wmpd —20 kJ/mol K
LS. ATLITRIH HETONFNFULTH B(HHEHLD
Ceauliuplenevdd HC BmHULg

1) 100 K

2) 100°C

3)20K

4) 20°C

LeiTeu(meuesieuBenmLl GLImHeHHaLb

a) CO +% 02 — CO2 |i) pHBeer LB &S 6

OeulIuD

b) 2H, + O, — 2H20 i) enflge Geuriuib

C) Ct+ Oz — CO2 [iii) o_(poundasbde

OeulILD

d) NaOH + HCI —
NaCl + H20

IV) erflQuTHeiT GFed

1) a—ii, b—iv, ciii, d—i
2) a—iv, b-ii, ¢, d-iii
3) a—ii, b—iii, c-iv, d-i
4) aiii, bii, c-iv, d-i

N=N,H-H osgib N - H enemntlijsefer
aymmevser (penmGuwi 945, 436 wmmid 391 kJ
mol-1, eleweules eraiigmeorl, Nag + 3Hzg —
2NHj3(g) sT01LIg)

1) 93 kJ

2) 102 kJ

3) 90 kJ

4) 105 kJ

96 YDSE o6 gboB BB cpodomsi
LWSTLGSSHIBBSHI. Hevguled o (Haum@Hd GnISHS®
allefbyserileir aulgeuld

1) 9i8uyeuenenuid
2) aul L LD

3) BriBG=s®H

4) uyeueeITUILD
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In Young’s double slit experiment, a mica sheet
of thickness ‘t’ and refractive index n is
introduced in the path of ray from the first source
S1. By how much distance the fringe pattern will
be displaced.

D51t

231t
d

3) (n-1)D

4)2 (u-1)

In an interference experiment, third bright fringe
is obtained at a point on the screen with a light of
700 nm. What should be the wavelength of the
light in order to obtain 5" bright fringe at the
same point?

1) 500 nm

2) 630 nm

3) 750 nm

4) 420 nm

The angle of polarization for any medium is 60°,
what will be critical angle for this
1)sint+/3
2) tan"1+/3
3) cos 13
- 1
4) sint =

In YDSE, intensity at the centre of screen is lo.
Find the minimum distance from centre of
screen, where intensity is lo /4

AD
1) 1
AD
2) "
AD
3) 1

AD
4) o1
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whidler @yenL Llemey LfGFTgHmenuisd, (LpgHeo
epeulomedt S1 @eV(Hbdh SH 6T LTenHUTeD HigLoesT
T oBpiIb @eialevssd N SFWBISIEL DS
ST6elT  QBWPSUILGSHSIULL G  alefiby  omgf)
6T6166TTeY SHITTLD @)L LoTBBLD GEFWIWILIBLD.
Dph-Dt
23 (-1t
d

3

) ]()u—l)D
47 -1)

GuIESH uflCaTmHmeanuien, caBITag GLTele)
aufl 700 nm geafluyLer Henyuled @h Liemailuied
OupLLGSBH. 9165 Ueitefluled Seugl GLmedey
aufl QuB geflulles SiemeVHeND slciTaTeUTS E(HEDHD
Beuemr(BLd?
1) 500 nm
2) 630 nm
3) 750 nm
4) 420 nm

ahS Q(H 2L HHHBSLD Henailenene] Gsmend 60°
LG, DSBS OTBIHIEN60 CHT6mTLD 61631601

1) sin1y/3
2) tan*/3
3) cos 13
- 71i
4) sin N
YDSE @0, &Hevguient enowihadled o sitern
afFQamley lo ey@b. lo/d _ ous BmdbEIDd
Foopulen  OUSHOMBE  GOBHHLLS
BT SHMSHD HEILMSIUIA|LD
2
3
Z)E
3)5

AD
4) o1
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9.
1

0.

11.

12.

13.
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17.

Solution

20x4=80 MARKS

Answer: (2)
Answer: (1)
Answer: (1)
Answer: (1)
Answer: (3)
Answer: (2)
Answer: (2)
Answer: (2)
Answer: (4)
Answer: (4)

Answer: (4)
Conceptual

Answer: (4)
Conceptual

Answer: (3)
For spontaneous process AG must be —ve
so, AG<0

AH-TAS <0

AH —400
T< —«<
AS =20

<20K

Answer: (1)
Conceptual

Answer: (1)
AH=-2[3xen—H]+ex-nt3Xeg_u
=-2x3x391 +945+436x3=-93kl

Answer: (1)
The shape of interference fringes formed on
screen is hyperbolic.

Answer: (2)
_ (p=DtD
d

18. Answer: (4)
NiA =Nok,
3x700=5x XA,
Ao =420 nm

19. Answer: (4)
- | =tan Op

u:tan60:>p:\/§

Now sin O¢c = l
i}

. 1 a1
sinOc= —==0.=sin" | —
B [ﬁj

20. Answer: (1)

[ = 1,,.x cOS (de]
AD
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